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(2+©)~7

¢ )/{3/0 ]

= 6x7 =42
Section 3.6 Order of Opérations with Rational Numbers

Do the operations in brackets first

IB Next, evaluate any _E K'gongnﬁs

D ) .,
Z@} Then, Divide and Hul-b,ol,y

5By 4 =4x4=16
B) 232 2x2x2=8

in order from left to right

IQ:I» Finally, Add  and _ Subtract in order from left to right

Order of Operations

(-8)+2-7x3
=4 —2|

Example # 1

442l
=- 25

4;“1-

((4+5)+4°x2

Example # 2

1 +:.',x2|
1+3f
33

"

|1
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Divide First
Then, multiply
To subtract, add the opposite

Brackets First
Then evaluate the power
Then multiply



Order of Operations with Fractions

x
. 5
Example # 1 ( %, ) ) ("—) Subtract  in the brackets first Use a

common denominator of 8

=1 _dr 2 To divide, multiply by the Kedproc«l

2 = o = b
5 - a — X =

® -8 > xt
= -é—. Look for common factors

Both factors are negative, so the product is

PQ sitive .

3 2 Multiply First
_ ixZ ._Lx
- Look for common factors
qxz 2x1
- Add.
= -|2.- * |i 244 U d inator of 18
se a common denominator of 18.
§ 18 q.2.7
-1
13
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Example # 3 (@ + @X "“) Convert mixed numbers to Improgr

fractions
—-_37— + = x( 2/) Mult p‘x first
= lxq— _Efz ‘+/" Use a common

3.4 6x2 denominator Of_lz_
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Always Reduce

Error Questions

1. Astudent's solution to a problem, to the nearest hundredth, is shown below.
The solutlon is incorrect. Identify the errors. Provide a correct solution.

Q /7(3)x -8)=+b4
(-8)* + (-2)-3x(-6)

Ao - 64 = (=2)E3x(-6))

(64 _goﬁ;-lti
@1‘5 = 445 = (9

Answer: > 64 T (‘2)/9_3”‘/(?6) ) @g
-32 + |8 %%\ = 14 +9
— 14 e -
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2. Two students were asked to evaluate:
(-8) - 2(24 + (-8))?

Here are their calculations.

Student 1 Student 2

(-8) - 2(24 + (-8))* (-8) - 2(24 + (-8))?
= (-10) (24 + (-8))? = (-8) -2 (-3)°

= (-10)(-3)* = (-8) - (-6)?

= (-10) (9) = -8-36

= -90 = -44

Why did both these students get incorrect

answers”? What is the correct answer?

Answer:
Student 1 Student 2
(8) - 224+ (-8)) (-8) - 2(24 + (-8))?
= (-10) (24 + (-8)) = (-8) -G (-3
= (-10)(-3)? = (-8) - (-6)°
= (-10) (9) = -8-36
= -90 = - a4
2

"'8 Z"’_— <t L L"°J
~8 - 2{-27 @ms

-8 - 2x9,
=-8-18
_-___zﬂ @@uﬁz %L" TOMovvou/ CX/"' BEDMAS)
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Correct Answer:
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